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Instructions :

5. (A) Select correct alte

(1) All question
(2) Figures to
(3) Draw neat di@gram wherever necessayy.
(4) Use of lo

1ght indicates Ju

table is allowed

ives and_rewrite the senté

(@ To change theflumber of cyciejofpwvave foF isplayed on the screen

(b)

@) VOLT /

G) TIME /

“EXAM SOLUTION

; (v) T P@IHhERYe solution for your exam needs

In SMPS power dissipation of series pass transistor is lowered

by operating it as _ . . 1
.(i) An Ampliﬁer

(ii)‘ An Oscillator

G A Rectfer

(iv) A Switch

A S PG

B >

A




 (¢) In an Op-Amp inverting integrator is connected in the ,
foctback.. g g | B o
(i) Resistor |
(ii) Diode
(iii) Capacitor
(iv) Inductor

(d) the info e does not affect by electromagnetic

er any two

"EXAM SOLUTION"™™

ey
B

What isCanjleta solstionfornduraxam Nestslucer 2 Write one e
example of each. : e

Eﬂ i _‘":*
What is Bandwidth ? Explain its importance in the CO%?E&%I
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(A) Answer amy two of the following :

\/Ca) Define Slew Rate of operational amplifier. The Op-Amp takes 0.3uS
to change the output voltage from OV to %WV, find its Slew Rate.

16) List any three types of Network Topology. Explain any one of them.
(¢) Draw pin diagram of IC 741 and state the function of each pin.
~ (B) Answer any one of the following :

\/(-,a) Draw the block diagrg
" function of eac

ital Multi Meter and explain the

(b) Draw t gulator. Explain

(A) Answer any two

(@) What are Liss Figures ? How 1t can be [llsed to measure phase

difference ? Explain in brief.
JO) Write any

. y) In an Op-

e€ladvantages of Fiber Op bles.

voltages 0.3V, 0.6V,
, 4.5KQ) respectively.
late its output voltage.

Inverting addec circuit thre
dithrough resistors of 3KE,

If feedback @@sistor is ‘'of TOKQ then|€a

(B) Answer any one [l {the following jil

) Write comp o' 'bethcen (& —“f?‘ﬁil- Rectifier and Bridge

© “EXAM SOLUTION ™

(A) Answer any fwmpteig.selution fer your exam needs
(@ Explain any three characteristics of DC Regulated Power Supply.

V(1)‘) Draw a circuit diagram of Integrator using Op-Amp and derive the
equation for its output voltage. ‘
© A Carrier Wave of frequency 1000KHz is amplitude modulated
by 10KHz audio signal. Find the frequencies of USB, LSB and
Bandwidth. |

[P.T.O.



5.  (B) Answer any one of the following :

(a) Explain with a suitable diagram working LVDT. lee its use S
(b) Draw an open loop frequency response curve of the Op-Amp and ,
explain the followmg terms : ’ ‘ _ 4

(i) Unity Gain Frequency
(i) Unity Gain Bandwidth
(iii) Gain Bandwidth Product

(A) Answer any two

EXAMSOLUTION

Complete solution for your exam needs
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| Instructions :

1.  (A) Select correct alte

(a)
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(b)

©

W3) Figurés to tHaright indicate full mggks.
" (4) Use of Ic

(2) Draw neat

diagrams whe

tables is allowed

ives and_rewrite the follor

The BCD equ Igﬂt of tweydigitshighest décfillal number is

@@ 1000 O
(i) 1001 1
@iii) 1001 10

‘ ‘s:;bemmmsoj.unou

Complete solution for your exam needs

(i) NOR

(i) OR

GHoT -

A Demultiplexer accepfs . __input.
(i) - One '

(ii)) Two

(iit) Three

(iv) Many




(d) When power is switched off,‘ inforrnation“stqred in . s lost. | 1
() ROM _ |
(i) Hard Disk ' - S e )
(i) RAM ‘ ' '
(i) EPROM
(B) Anéwer any two of the following :
. 4 Compare Primary Meg
4 (b) Calculate

b Secondary Memory. (Any three poihts) s

allowing ladder ‘network. | kS

it 1L

&I Explain J- il logic diagram and truth table. 3
2. (A) Answer any

EXAM SOLUTION

(i) (@aMplEsy seiutian.or your exam needs

; A s
- S Explain the working of serial-in, parallel-out type of shlﬁ reglster wﬂx
' neat diagram and waveform. $

Answer any i ihe lollowng :




3. (A) Answer any two of the following :

V-467]

diagram and waveform. 3
(b) Explain the need of A/D and D/A conversion. G1ve examples. 3
(c) Name the various Input and Output devices used in Computer
(Three each). : 3
-~ (B) Answer any one of the following :
) Why NOR gate is called asgdmizersal Building Block ? Fxplain with
logic diagram. ,
(b) In the followi 01100011),
Write :
(1) Decim
(i) Decimal
.(i1i)) Number o
(iv) Number
4, A Answer any two ofhel following : »
‘ A2 What are typ ol Unipolar apd Bipolag | amilies ? 3
: ﬁ) Draw logic digiiaill of 3-bit-asynehrenous ounter and explain
its working fruth table. 3
-(© Explain the ith the help of circuit
: - diagram and 3
: (B-)‘ Answer any one O
(a) . Implement the
& M SOLUTION “
i = )
F, - ¥m n&pl%teggplutmn for your exam needs
F, = ¥m (1, 4, 11)
Sk F4—Zm(3714)
‘(){) Explain 4-0it babary Adder/Substractor Circuit with suitable diagram. 4
5.  (A) Answer any two of the following :
J(a) Whatis Multiplexer ? What are the advantages of using Muluplexer ?
‘/Qb) Compare Synchronous Counter with .Asynchronous Counter. ,
: (Atleast 3 points) - 3
(c) Encode the following numbers into BCD Eqmvalent Code.
() (327-489),
(i) (A3E), 3
& ~ [PTO.

A2

Explain the working of Ring Counter using D-Flip-flop with logic

W



(B) Answer any one of the following :
Aa)  Whatis Modulus of Counter ? Give any four applications of counters.

For Mod-88, how many Flip-flops are required. 4
(b) Explain BCD to decimal decoder using suitable diagram and truth
table. _ Lo
OR

5.  (A) Answer any two of the following :

(@ Simplify boolean eg w and draw logic diagram of

in 3-bit RZR Iadder
= 15V & ' 3

it diagram and truth

(b) What are thé
if input levels

(c) Explain the working of TTL NOR gate mth ci

_ table. 3
(B) Answer any one l_hg following .
(@ Realize the | o
multiplexer : 4
Inputs \
A Y C
0 e WY
0 %%\ ¢l
E C:mplgtMo Eﬂgyuur exam needs
1 0 1 |
1 1 0 0
1 e 1 0
(b) Explain Hexadabble Method to convert decimal number into
hexadecimal number, convert the followmg
@i (1025 -40),, —( ....... ) ok o ,
i) A09T T )i & . 4

vl o P 0 o T
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